FOIL method exercises (ver.241029)

[Pattern 1] x without coefficient xICIREXB Y2 — v
Ex.) Expand and simplify (x + 2)(x —5)
Step 1: Circle the terms H%z XL THE

@E )@ D)

Step 2: Expand with FOIL method FOIL ATERY %

’ First )

@ )@ ):)’SZ @) I L
‘ Outer |
R .

( %} ) = x% — 5x + 2x

F @) I L

Inner
( 2D €5) =x%—5x +2x — 10
| 4 F O I L

Last

Step 3: Combine the Oand I terms O & I DIHZ AbHE S

x%? —5x 4+ 2x — 10
=x%—-3x—-10 Answer x%—3x-—10



FOIL method exercises (ver.241029)

Expand and simplify BB L., HZ £ LHAEI L

(1) (x+2)(x+5)=x%+5x+2x+ 10

F 0 T L
x% 4 7x 4+ 10

F O+I L

(2) (x+2)(x—5)=x%—5x+2x—10

3) (x—2)(x+5)

(4) (x—=2)(x—5)

F O T L
x? —3x—10

F O+I L

x%+5x —2x—10

F O T L
x%+43x—10

F O+I L

x? —5x—2x+ 10

F O I L
x% —7x+ 10

F O+I L



FOIL method exercises (ver.241029)

[Pattern 2] x with coefficient xIT{RED3H 5 82—
Ex.) Expand and simplify (3x + 2)(4x — 5)
Step 1: Circle the terms H%z XL THE

CIEDED)

Step 2: Expand with FOIL method FOIL ATERY %

First
| }
@ @ ) =122
F @) I L
Outer
| !
BGx» )( €5 =12x>—15x
F @) I L

12x% — 15x + 8x

( €2@E» )
|

F o) T L
Inner
( &2( €5 =12x2—15x+8x—10
| ) F o) I L
Last

Step 3: Combine the Oand I terms O & I DIHZAbHE S

12x% —15x + 8x — 10
=12x% —7x — 10 Answer 12x% —7x — 10



FOIL method exercises (ver.241029)

Expand and simplify BB L., HZ £ LHAEI L

(5) (3x+2)(x+5) =3x%+15x + 2x + 10
F 0 I L

=3x%+17x + 10
F  o+I L

6) (x+2)(4x +5) = 4x* + 5x + 8x + 10
F o I L

= 4x% + 13x + 10
F  o+I L

(7) (3x+2)(4x+5)=12x%+ 15x + 8x + 10
F 0 I L

= 12x% 4 23x + 10
F o+I L

(8) (3x —2)(4x+5)=12x%+15x — 8x — 10

F ) I L

= 12x% + 7x + 10
F O0+I L

(9) (3x —2)(4x —5) =12x? —15x — 8x + 10

F @) I L

= 12x% — 23x + 10
F o+I L




FOIL method exercises (ver.241029)

[Level 1]
Dx+1)?=x+DxEx+D)=x>+x+x+1=x*+2x+1
2) (x+2)(x+3)=x?>+3x+2x+6=x*+5x+6

x+1Dx+5=x>+5x+x+5=x*+6x+5

[Level 2]

4) (x —3)(x+5)=x*+5x—3x —15=x* +2x — 15
5)(x —6)(x+2)=x?+2x —6x —12 = x* —4x — 12

6) (x+4)(x—2)=x*>—2x+4x—-8=x*+2x—8
Nx+1Dx—-5)=x*>-5x+x—-5=x*>—4x—-5

) (x—1)=(x-Dx-1DD=x?—-x—x+1=x*-2x+1

Nx—-2)x—-3)=x>—-3x—-2x+6=x*-5x+6

[Level 3]
100 x+1D(x+3)=2x>+6x+x+3=2x*+7x+3
11) (x+4)(3x+5) =3x% +5x + 12x + 20 = 3x% + 17x + 20

12) (x+4)(Bx +6) = 6x? +12x + 12x + 24 = 6x% + 24x + 24



FOIL method exercises (ver.241029)

[Level 4]

13) 2x—-3)(x+2)=2x>+4x—-3x—6=2x>+x—6

14) (Bx—-5)(x+1)=3x2+3x—5x—-5=3x>—-2x—75

15) (x+4)(5x —2) =5x?>—2x+20x —8=5x*>+18x—8
16) (x+2)(3x—8)=3x2—8x+6x—16 =3x*—-2x—16
17) 2x—-1D(x—-3)=2x?—-6x—x+3=2x>—-7x+3

18) (x—5)(3x—2) =3x?—2x—15x+ 10 = 3x* —17x + 10
19) (Bx+2)(4x—1)=12x%? —3x +8x — 2 = 12x? + 5x — 2
20) (5x+1)(2x—2) =10x? —10x + 2x — 2 = 10x*> — 8x — 2
21) (4x—2)(5x+3) =20x? +12x — 10x — 6 = 20x%* + 2x — 6
22) (2x—6)(3x +5) = 6x? + 10x — 18x — 30 = 6x* — 8x — 30
23) (2x—3)(4x —5) = 8x% —10x — 12x + 15 = 8x% — 22x + 15



